1 Wluwwnwyhgubph pwpwuwyp - 18
2 Cwuwnhpwgnigwlp b wywownuwihu npnypwswihbpp

Mwpwntwjhu Cwutnhpuiht 1 dhwynph
wudwunwip dhwiynputip s
Annypwswip (npuwid)

1 |Suopbu 1,0 110000
2 [dGpnnhuwin’ nw. gdny wnuopbUh nbinuiluwg 0,9 82900
3 |Ffuwynp hwogwwwh 0,5 80000
4 |Pnid. Lnyp 1,0 72792
5 |Sunbudwn Lo VPP
I Ywpg - 81700

6 |Gpwdhon® 0,75 |l jupg - 80600
I Ywpg- 79400

| Ywpg - 81700

7 [fwunhwpuly® 3,05 Il ywing - 80600
[l bwna - 79400
Ttwuwinhwph oqu. 3,3 72752
fFunhwpuwp 1,0 72752
10 |lunhwpwph oquwywu 0,5 72752
11 |Odwunwy pwuynp 0.9 72752
12 | "tepawly (140 72752
13 |Lywgwpup 0,25 72752
14 [<wywpwpuwp 0,5 72152
15 | Nwhwy 1,0 2152

Cunudkup 15,30

3. 1974p. <niujwph 1-ht b npwthg hbnn sujws wpfuwinnnulinh wwownnuwhte npnypwswip 1 hwunhpwihu dhwynph hwdwp
uwhdwl) ng wwlwu 75168 npwd

“Uwuhwwpdwlwu watuwnmnnutiph Yupgbph nwppbpwldwt swihwuhutipp

I'ywpg’ pwpdpwagnyt Yppnipjwu b 1-15 tnwpnig wybh dwuwdwpdwlwu woluwinwuph unwd

Il jwpg' pwpdpwgnyl Yppnignit b 1-15 nwpyw dwlwywpdwlju wpluwwnwuph utnwd, Ywd dhou.dwutwghunwlwl Yppnipjwu
L 15 twpnig wylith dwuwywpdwlwt woluwnwlph unwd.

H wng pwpdpwgnyu Yppngegniu b dhust 1 nwpdw dwuugwpdwlut wpfuwwnwuph unwd, Yud dhou. Uwulwghunwlwu
Uppnipndu b dhtigl 15 nwpdw dwuwdwpdwlwt woluwinwuph unwd.

fatinh pwpdpwgnyt Ypenyejwdp dwiywywpdwlwu wyluwwnnnh wwonnuwiht npnypwswihp uwhdwidnud £ dhel.
dwutwghunwlwt Ynpnip)niu niubignn dwy. waluwwnnnh hwdwp uwhdwbyws wwonntwht apnyph swihnd, huly punhwtnip
dhol. Yppnipjuip dwtily. wofuwwnnnh wwownnUwiht npnypwswthp' dhot. Jwutiwghinwlwl Yppnienitt niuignnhg wwyunnuwjht
nnnypwswithhg 5%-ny wwlwu:

o




1 |Cunwdbup fudpbp

wjn pYnwd’ - duntpwiht

65

2 |Punwdkup GpGluwubp =

wjn pynul’ - dunipwyht o
Uwuuwwpwnbiq




